Modern Atomic Theory
There are two big questions about atoms:


1)


2)

Electrons in atoms can be treated as ______________ more effectively than as small compact particles traveling in circular orbits.

· Large objects (golf balls and moving autos) obey the laws of classical mechanics (Isaac Newton’s laws)

· Very small particles (molecules, atoms, electrons) are best described by 

      _____________________________________

The motion of the electron is best thought of as a series of ________________________________________.
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One of the underlying principles of quantum mechanics is that we cannot determine precisely the paths that electrons follow as they move about the nucleus.

___________________________________________________ - It is impossible to simultaneously determine both the _____________________ 
and the _________________________of an electron  (or any other very small particle)
So, we resort to a statistical approach and speak of the ___________________________

of finding an electron within a specified area of space around the nucleus.
Bohr’s energy levels are divided into _____________________.  An orbital is an area where there is a _____________ probability of finding an electron.  An orbital is not a well-defined space or path.  Instead think of it as a cloud – more dense in the middle and thinner at the edges.  The more dense regions represent areas where the probability of finding an electron is the greatest.
Basic Ideas of Quantum Mechanics
Energy levels ( different distances from the nucleus
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Orbitals (  different orientations in 3D space
Each orbital can hold a maximum of 2 electrons.
